% é E R Berdkna procenttal

namn: Datum: Poéng:
69 x 60% = 63 x70% =
92 x70% = 36 < 60% =
63 < 60% = 6 x 20% =
53 x10% = 3 x70% =
100 x 60% = 74 %< 50% =
11 x 40% = 36 x 40% =
78 x 40% = 82 % 10% =
85 x 70% = 72 x 40% =
23 x 40% = 83 x 10% =
12 x30% = 47 x 60% =
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Berdkna procenttal

namn:

69 x 60% = 41.4

92 x70% = 64.4

63 x 60% = 37.8

53 x10% =53

100 x 60% = 60

11 x 40% = 4.4

78 x 40% = 31.2

85 x70% = 59.5

23 x40% = 9.2

12 x30% = 3.6

Datum:

63 x 70% = 44.1

36 x 60% = 21.6

6x20% =12

3x70% = 2.1

74 x 50% = 37

36 x 40% = 14.4

82 x 10% = 8.2

72 x 40% = 28.8

83 x 10% = 8.3

47 x 60% = 28.2
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